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Seat No.: ________                                                      Enrolment No.______________  

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGG.- VI

th
 SEMESTER–EXAMINATION – MAY/JUNE- 2012 

Subject code: 2360606/360606            Date: 29/05/2012        

Subject Name: Concrete Technology 

Time: 10:30 am – 01:00 pm        Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is considered to be Authentic 

Q.1 (a) Enlist the different types of cements and show its uses in different conditions, 7 

 (b) Explain Aggregate Impact Value Test   7 

  Q.2 (a) Explain Compressive strength Test of Cement                                             7 

 (b) Explain functions of Bogue’ Compounds                                                                          7                                        

                                                   OR  

 
(b) Define Admixtures and explain any Five  Admixtures in detail. 7 

Q-3 
(a) Define Workability and explain factors affecting Workability 7 

 
(b) Explain different methods of curing of concrete in details 7 

  OR  

Q.3 (a) Explain slump Test and draw neat sketches of different types of slumps 7 

 (b) Explain different methods of compaction of concrete 7 

  OR 7 

Q-4 (a) Explain factors affecting compressive strength of concrete 7 

 (b) State the various methods of Non Destructive methods and explain Rebound  7 

  Hammer Test  

  OR  

Q.4 (a) Define Durability of concrete and explain factors affecting Durability 7 

 (b) Enlist different methods of Repair of cracks in concrete and explain any Two 7 

Q-5 (a) Design  concrete mix by I.S. 10262-1982 method from following data 7 

  Find out quantity of materials for mix of 1 Cement bag  

     Grade of concrete  = M25 Standard Deviation =4.0  

     Factor(k) =1.65 Max. size of Aggregate =20mm  

    Water  Required = 190 Lit/m
3 
 of concrete      Entrapped Air  =  2%  

    % of F.A. in total volume of aggregate= 34%      W/C = 0.55  
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    Specific gravity of cement=3.15      Specific gravity of  F.A.= 2.65  

    Specific gravity of  C.A=  2.74   

 (b) Explain Fiber Reinforced concrete and Light Weight Concrete 7 

  OR  

Q-5 (a) Explain causes of corrosion of reinforcement in concrete and its remedies. 7 

 (b) List the name of journals and the various Authorities in field of concrete technology 7 
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pppp\\\\----1111    {a}{a}{a}{a}    s)m[ºTni (v(vF p\kirni nimi[n) yid) bniv) t[mn) j&d)j&d) p(r(AY(tmi> upyi[gi[ jNivi[. 7777    

    {b}{b}{b}{b}    a[g\)g[T uprni[ eÀp[±T v[Ãy& T[AT vN<vi[. 7777    

pppp\\\\----2222    {a}{a}{a}{a}    s)m[ºTni dib sim¸y< miT[ni[ T[AT vN<vi[. 7777    

    {b}{b}{b}{b}    bi[g k>piuºDni kiyi[< vN<vi[. 7777    

        aaaaYviYviYviYvi        

    {b}{b}{b}{b}    s>(m~Nn) Äyi²yi aipi[ an[ gm[ t[ pi>c (vP[ T*>kmi> vN<n kri[. 7777    

pppp\\\\----3333    {a}{a}{a}{a}    ki[>k|)Tn) vk[<(bl)T)n) Äyi²yi aipi[ an[ t[n[ asr krti p(rbLi[ vN<vi[ 7777    

    {b}{b}{b}{b}    ki[>k|)Tni ±yi[(r>gn) (v(vF r)ti[ smÔvi[.  7777    

        aYviaYviaYviaYvi        

pppp\\\\----3333    {a}{a}{a}{a}    AlÀp T[AT vN<vi[ an[ (v(vF p\kirni AlÀpn) aikZ(t di[ri[. 7777    

    {b}{b}{b}{b}    ki[>k|)Tni dibnn) (v(vF r)ti[ smÔvi[. 7777    

pppp\\\\----4444    {a}{a}{a}{a}    ki[>k|)Tni dib sim¸y<n[ asr krti p(rbLi[ vN<vi[ 7777    

    {b}{b}{b}{b}    ki[>k|)T prni ni[n-D)AT^±T)v T[ATni nim jNivi[ an[ r)biuºD h[mr T[AT smÔvi[ 7777    

        aYviaYviaYviaYvi        

pppp\\\\----4444    {a}{a}{a}{a}    ki[>k|)Tni TkiupNin) Äyi²yi aipi[ an[ t[n[ asr krti p(rbLi[ vN<vi[ 7777    

    {b}{b}{b}{b}    (triDn[ r)p[r krvin) (v(vF r)ti[ jNiv) gm[ t[ b[n& vN<n kri[. 7777    

pppp\\\\----5555    {a}{a}{a}{a}    aie a[s 10262-1982 p\miN[ n)c[ aip[l) (vgti[ni aiFir[ a[k b[g s)m[ºT miT[ ki[>k|)Tn) m)x D)zien kri[. 7777    

        ki[>k|)Tni[ g\[D M25 p\mi(Nt (vcln 4 MPa     

        acLi>k: k 1.65 mh_im a[g\)g[Tn& mip 20 mm     

        piN)n) j$(ryit 190 lit/m
3
 s&Èm a[g\)g[T 34%     

        G[riy[l hvi 2% vi[Tr-s)m[ºT g&Ni[_ir 0.50     

        s)m[ºTn) (v(SOT Gnti 3.15 AY*L a[g\)g[Tn) (v(SOT Gnti 2.78     

          s&Èm a[g\)g[Tn) (v(SOT Gnti 2.65     

    {b}{b}{b}{b}    fiber r)enfi[AD< an[ lieT v[ET ki[>k|)Tn& vN<n kri[. 7777    

        aYviaYviaYviaYvi        

pppp\\\\----5555    {a}{a}{a}{a}    ki[>k|)Tmi> sL)yini KviNni kirNi[ an[ t[n[ aTkivvini upiyi[ jNivi[. 7777    

    {b}{b}{b}{b}    ki[>k|)T T[±ni[li[J miT[ vprit) (v(vF jn<li[ jNivi[ t[mj t[n) siY[ s>l³n (v(vF s>AYiai[ni nim aipi[ 7777    
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